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Task Sheet 8

8) The following graph shows the relationship between the
mass and cost of four different brands of maple syrup.
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Which statement is frue?

a) Brand A ha we Yes No
b) Brand B ha ligst mass. Yes No
c) Brand C has the highest cost per gram.
N
Yes No
S
o . N
Explore With Technology Visit The website h’r’rp.I//www.cl:u’r—’rhe—l.(no’r.orq, onq
experience challenging and interactive algebraic
problems.
Click on the different activities listed under the Algebra
section. See how many problems you can solve, p
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NAME: M Review Gliedl

Review B

a) |ke's school decides to hold a carwash fundraiser for their school trip. The school
spends $40 for all the equipment needed for the carwash. They end up paying $3
for water/supplies for each car they wash. They charge $6 for each car washed.
The formula used to calculate their earnings is E = 6x = (3x + 40) where E =
Earnings and x = cars.

Calculate their profit if they wash 50 cars:

Solve these igns showing your work:

D3x+7=19 )17 -x=4

d) Simplify the following equation:

AX2 - 2X + 6 + 3x - X2
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Plotting and Coordinates

a) On the following graph, cite the coordinates for the
objects listed in the chart below.

Coordinates
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